EARAZROREIERT — 2 N—XBISY —F 202155858 (k) 2EIPIRI4H

m-lj v ROGOLDSTAR4R A3 H5%—#% ‘ [X&] /™ ‘ [seEmsf]  — | & (&) 17000 FHE
[AE4£] 17 :800,000 "  237%&:224,000 ~ 33#&:168,000 M . 4 & :112,000 @ 5 & :56,000 M
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
S = AlllE :50. -1-1- . — KNG (s
B s x-anFy i 4 =2 1&))2 1-1-1-1 | 40.0 2 (5;0) O, Bl
LN v H—Ib B:T7F15U7 Fh)T7—L
SN LSS5 R ABERE s 51, “11-11- Y NIBHA (EimE)
oM 4| INUTETSYR 5SS 1<541>1 1=1-1110) 38.4 1 (T;) EEET -
L:bh—t2hvLRY BIRNUTLI5H XF @A
S B 5 | HAEXK 1:51.2 2-2-2-2 |40.9| — 8 494 | ANIFH (i)
3 10 =T 53.0 (7€) -8) R /AR =
SHIRT4TIR B:T77—A LT 57 R
. 3 i 4 | WABREE 1:51.7 2-4-5-7 |40.8| — 9 468 | MARE (dtimE)
4 WA 2 N ZyFH—Ib 54.0 (2 1/2) o) (H) %$77)‘——L\
R:70F—v B:YTrb HET7— L
S N 4 o4 | B 1:51.7 9-9-9-8 |40.0| — 5 464 | KIIF (AtimE)
518l12| 7¥ /847y b 57.0 (74%) (+14) | FEIRFNE
R:Tv IRy b B:IXxZ)33—7F Wing Farm
. o 4 4 | BRNREA 1:52.2 7-7-71-6 | 41.1| — 4 482 | #FNBA (dbiEaE)
6l7/9|/F—-F7zH—-2 55.0 @ 1/2) uy) |EHEE
RIAY>TTIvva BT« T7—F FLTA T 57— I
. 4 7 | BIEREE 1:52.3 2-2-2-3 | 42.0| — 6 464 | XKEIRBY (ALiEi&E)
71811 -7 —X b 56.0 (1/2) (-8) PIRIZES
LTANNTTFH— B:ghIhF EvilLy RTr—L
K 47 | BREF 1:52.3 7-8-8-8 | 40.7| — 11 512 | RERL (tEE)
8|5|5| 7Yyl 55.0 ) L NS
R:gr—3I)F7> BN E—F2O3 o T s
SA # o6 | ATEEH 1:52.6 5-5-5-5 | 41.9| — 7 486 | NBEAN (LimE)
9 8 TN T+ — L4 57.0 (11/2) (o) | KLEATIE .
R:F4—TAHA B:EILERRU-— Sz e ]
o g B 4 | BEXT 1:52.7 6-6-4-4 |42.2| — 3 512 | #FIEL (dbigiE)
1o 7| FP-F 8.0 (76) g | ) 57—
¥ /5% B:F21-—-N2UXL2 N> T s
R 4 5 | BREZ 1:54.2 12-12-12-12| 40.9 | — 10 | 534 |#LIEF (dtiEE)
15| 6| TIT>T2HR- 55.0 " (a) | BREX
LN —=Ib BAIrn—h T HiEm
S W ¢ t> 8 | BIEAR 1:54.7 9-9-10-11 | 42.2| — 12 | 516 |AO%E (EE)
120111 T2y TRFAIN— g A54.0 2 1/2) (-14) EETZ =
AN F 21— B/ —TNTp=— 2)l| B5
@ 1—F—@&BIEf
13=zr= 3,(2,10,11),8,7,(5,9),(1,12) ,4,6
23—F— 3,(10,11),2,8,7,9,5,(1,12) ,4,6
33—+— |[3,(10,11),7,(2,8),9,5,12,1,4,6
43—7+— |3,10,11,7,8,9,2,(5,12) ,4,1,6
[ RN
B OB 3 260M 714K 3-4 150H e & 3-4 220M 3ER 3-4-10 3,030
% B 3 100M 3-10 1,240M B & 3-4 260 JEH 3-4-10 9,960M
4 110 4-10 1,660 B H 3-4 500
10 410M

ARICOVWTRDTEEERROODE. TR LIV,



